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SC 2021 GENERAL MATHEMATICS/MATHEMATICS (C( )RE) 1 1 1 hours

Do not open this booklet until yow are told to do so. While vou are waiting, write youwr name and index number
in the spaces provided at the top right-hand corner of this booklet and thereafter, read the following instructions
carefully.

1. Use HB pencil throughout.

2. Ifyou have got a blank answer sheet, complete its top section as follows.

(@) In the space marked Name, write in capital letters your surname followed by your other names.

(b) In the spaces marked Examination, Year Subject and Paper. write “WASSCE (SC)’, “2021°,
‘GENERAL MATHEMATICS/MATHEMATICS (CORE)’ and ‘1’ respectively.

(¢) In the box marked Index Number, write your index number vertically in the spaces on the left-hand
side. There are numbered spaces in line with each digit. Shade carefully the space with the same
number as each digit.

(d) In the box marked Paper Code, write the digits 402112 in the spaces on the left-hand side. Shade the
corresponding numbered spaces in the same way as for your index number.

(¢) In the box marked Sex, shade the space marked M if you are male, or F if you are female.

3. Ifyou have got a pre-printed answer sheet, check that the details are correctly printed, as described in

2 above. In the boxes marked /ndex Number, Paper Code and Sex, reshade each of the shaded spaces.

4.
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THE WEST AFRICAN EXAMINATIONS COUNCIL
West African'Senior School Certificate Examination (WASSCE) for School Candidates, 2021

Oniective TEST
[ 50 marks ]

An example is given below. This is for a male candidate whose name is Chinedu Oladapo DIKKO,
whose index number is 4251102068 and who is offering General Mathematics/Mathematics (Core) 1.

THE WEST AFRICAN EXAMINATIONS COUNCIL

N

PRINT IN BLOCK LETTERS

ame:___ DIKKO CHINEDU OLADAPO

Examination:WASSCE (SC) year: 2021

Surname Other Names
Subject: ___GENERAL MATHEMATICS/MATHEMATICS (CORE) Paper: __1
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Index Number:

Answer all the questions.

given below.

A. 12 years
B. 12% years
C. 13 years

D. 137 years

shaded.

[A] [B]

change.

Now, answer the following questions.

1.  Correct, 0.00798516 to three
significant figures.

A. 0.0109
0.0800 | o .egq
C. 0.00799
D. 0.008
Frts 2
2: Slmphfy.(lltwo).
= ||
@ 1OO]two X ' ,
B 1101 {1
two
G 0] i
two
D. 10001 1001
two
3. Solve:2‘2x+]=32,
2o
= Z
18 gextD%s b

24 (e )= 2

S@I

(2x+D"z>‘2: Kix2

= 2241 =25

= 9:/,:24/' Dx=|

Do all rough work on this question paper:

N

\

1 ‘ o
11 mwp‘éf /Jﬁfﬁ /‘/ﬂ’k,(h’ /Zj 2

Mathematical tables may be used in any question.

(C]

Think carefully before you shade the answer

4.

The use of non-programmable, silent and cordless calculator is allowed,

Each question is followed by four options lettered A to D. Find the correct option for cach
question and shade in pencil, on your answer sheet, the answer space which bears the same
letter as the option you have chosen. Give only one answer to cach question. An example is

i

If log, 2 =m and log

210 210
in terms of 2 and n.
3m+n [Lb‘
=t |
B. m+3n 3
C. 4mn
D.  3pin -:> ,0‘1 7}
oo

........................
.....................................................................................
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The ages, in years, of four boys are 10, 12, 14 and 18. What is the average age of the boys?

The correct answer is 13 % years, which is lettered D, and therefore answer space D would be

spaces, erase completely any answer you wish to

3 =n, find Iog1024

n 5 AL
Log, 24

(4x6)
o

g 4+ 1leq b
L‘Zﬁl:‘b s'J’L

7

T4 Lo(j (5)(7.)
fe

2leq 23+

cic O

=2 m+n+Mm

:> éz/jn

Find the 5" term of the sequence: 2, 5; 10,

g '

17, e ‘_7/1(' i ,’
< s Giveq Z
ATE2D 8467 Z(’*j i
B. 24
C. 36
& 3

Hhe 0t torm
|

=B o e B

::.2__6

IfP={-3<x<1}and 0= {~] <x<3),
Where x is a real number, find P N Q.

(=1 =S
8. {B=<x=1))
G {S3<x-1i!
D. {-1<x=i}

p=§x:=2,-4,0f
@=5%:0,1,27

= PA@=fof
= POQ= e

s 30
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10.

11.

Index Number

Factorize 6pg — 375 — 3ps + 6qr.

gpi-zrs —3ps+(7r

A. 30r-p)2g+s) 2

@ 3(11 +r)(2q - 5) CFZ*C;V -3 3}75

= JEP‘I X2g9-3) 4 (p+r) 35(r+/‘)
. 3(r

X205 o
= (22-—5) ( F_HD

What number should be subtracted li‘rom
the sum of 21 and 21 to give 3—7?
6 12 4

VA

I Lér'% Numbee be 2

S Hhen, : v
! - &
1= (63+'2 G
2 o +>I =26, = A2
c Ao sB gt
s 12
D. %:_:>§?—19_z:§7 5,
= hx=18, >x=72

Mensah is 5 years old and Joyce is thrice as
old as Mensah. In how many years will Joyce
be twice as old as Mensah?

.ee
.......
.........
...........................
.................................................................

Mensah =5 Years
A. 3years /gya— 35%5= /5}&!1
B. 10 years Lif"fﬁeé/‘/“’”"z
5 years
+ 2
D. 15 years S % (5—*“/’)

/2-"'/0 s S i 36 5
If 16 x 2 D=sx o 80E0) b6 1 it vialie |

o le %2+ xs(“’%
" 24_ X 2(x 4-0_ 2 2_3('
B 42 g4 s
@\ 1 _525"*)4 g~

D otx=3%;x=-

The circumference of a circular track is

9 km. A cyclist rides round it a number of
times and stops after covering a distance of
302 km. How far is the cyclist from tlie

WW%%%%,%mﬂﬁﬁmm
TEEe e £ADC= 70 ertially epp anles)
C Thm o Syl 'mé(
D 3k ,:7%0“2)6», = 3356 B. 1123 ADE < LCDF"f(g’(’O'/'@ :

; m L33 fime Ahcg(ur,fafem%)
5 235 x7 47? —>4A0£ =ZCOF =£(220) = 1)p°
P dul ice

_?;02 277~ 516»1 -‘:é D=II0) bat D=t C””“f”"“?

'....

7
12. Simplify. 2ﬁ—ﬁ+—\/7.

Lfﬂﬁ_—:fﬁ

y g WETg g b Vaxvzi
F\[2l
o 7J_1 Zﬁ 14\’?'.4— % \f-/
© J_ o7 — 2\/?+ \F/ L
Y=z
D. 3\/5
Ifdx -4:.'2y— 16 and 6x — Zy = 4, find the
value of (y — x).
G +24=16 - - C{v)) b
A. Séoc—:w =4 -~ =
© 2576 tow=20;x-2 =
D. 57%4(«)4("’7*25'”’ =
>C/'~:)—k 4$-2=2 —

14.  Given that R is directly proportional to L
and inversely proportional to 2, R = 3
when L =9 and P = 0.8, find R when

02010599560340211221

L=15and P=18, KL -
Rl = R=Fp =

@A) 22 F. % =

Bass >é"?/)2‘f ?k =

Cx 966 =

D. 03 > K=0936F , =

: __>R, O'ZXio. & 22

15, I8
c DL
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In the diagram, Z4BC and ZBCD are

m';> £=10° -

-t Vs

e e e
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The sum of the interior angles of a 2l
regular polygon with & sides is (3k—10)
right angles. Find the size of the exterior
angle. /e i f?,m:’f an9qlu 7/"2‘/
}')L?z?&h wl/ﬁ /)C'jq/dq )
(n-2)I50
‘;g = (3K~10)J0 =(k-2DIsD
1200 = BK-lo=2K—4
= ZK-2U=10-4
ZK=6) 3 gt angle= /ﬁge; éo
17. Make U the subject ot the relation:
xzig-; . x@Bu+)=2u-3
} i Zur t+2x =2U-3

16.

A. 60°
B.
C

D.

A U

Bx=2 (] (5%_. 2)—; -3
2x-3 / - /o
U(ze-2) =312

8x—2 =2 :
—(3+23¢
2% -2

2432 U=
T

BUS U=
© v-
2—3x
2043 a5
T 3x+2 U —! C’JX'?'?)
(2-29)
18. A trader paid import duty of 38 kobo in
the naira on the cost of an engine. If a
total of 3422,800.00 was paid as import
duty, calculate the cost of the engine.

mpoct V5
%60,00000 Callute® [},
: 5]
B. ¥120,000.00 L oF totel Costbere
C. %24,000.00
> 2= Joo/s
D. ¥18,000.00 425 gz /9
=P = |LXZ25C0 = 45,280,000
[9°Tihe heigh?vof an equilateral triangle is

104/3 cm. Calculate its perimeter.

20 cm
60 cm
40 cm
30 cm

2 2x+3 §UJC"2LI:‘§‘21-

Do not
«WTIte in this
margin

.....................................

20. InALMN, [LM|=6cm, s1py=9p°,

ZLNM = x and sinx == . Find the area of
ALMN. ?

L ILM|=4
Sun 2 '—( ‘\if B’ e
A. 60 cn? Jo ¢ *THN) 9 =
B. 48 cn ’ '\\ILM, L
©) 24t M = INM|=\lov-36
D. 30cm? =
:> Hres 5[ ALMN
i ,,\;/IZ) - I{,V\":‘/\\
21. Consider the statements: o T
P: All students offering Literature(L) ~  © ==
also offer History(H);
Q: Students offering History(H) do not
offer Geography(G).

Which of the venn diagrams correctly
illustrate the two statements?

T

)

A. y H
e L
B." GQ @j

22 Find the quadratic equation whose roots are O
—2gand 5¢. ‘K:“Zi) pd :?2
= A+29=0,2¢ ~59=0

2 +3gx—1042=0 = (xﬂﬂ(‘}z_gﬁ) i

:é'OCm

[ 20F204DHB— —

5 S0 =10' 2

x2—3qx+10q2=0 2 |
B 0= = X — 329 —(0g2
x> —3gx—104* =0 i OCL =Ch

4 Alkeneady
W [ :f?’?" Koyt
Ao el
= —5224‘("’0?2 =
= 2t -39 — (92 2 ;ﬁ

Qosﬂ?
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g 3 « 1 27. Asolid brass cube is melted and recast as
3. Iftanf= e 180° <@ <270°, find the value a solid cone of height 4 and base radius r.
of coso- s ) If the height of the cube is A, find 7 in
e 1_‘7/1'{‘ .
i b e e PR hege i /1/
A. g fc’VZ‘Qﬂﬁ*:,é_ A, r=h > Vg&une _7 Cubse = / %
B > i B. r= 3h Vetume ef Leie :/3’—77_—,/
. g J T . W l/“{‘""‘— &')K
equating VVolume &
@ 4 *)7/1-44‘5 A-Vlcf C. r=mh '—>/,3"J"777’24 ¢ g,}, T2k
D Dor=nt| RLTECE . G B
. 330 g e
bui’ces‘,;_sﬁ W . i v = h\=
/ e wm Brd ?“QJV‘MI 28. Which of the following is not an exterior —
5’04\9 <274" > Cesp=—%
o angle of a regular polygon? % Shlens
4. 2
24 1 3) o 3)( > , find p. | Eoetertor @mj[u G re regulse |64
| i 66° | aul &;u:d and are H<Sters ¢ 360"
5 B 722 4
G=3)  £e3) (o (xs -2 c ae| 66" mzf sclor ¢of Qw
52
4 (_l(l +5) 2foc-0)-3(x3)= P D. 15°| = 66° s net an eleivor =
5 D S
: # apgle ef 9 Fegulsr Petygen =
i = Gx— ]3) (DC*S)()( Z> 29. From a point 7, a nian mojfes 12 %m /J ¢/ —
:—>/),2—K_;f -22¢ 4 due West and then moves 12 km due South rorm O
25. The diagonals of a rhombus are 12 cm and to another point Q. Calculate the bearing =
5 cm. Calculate its perimeter. ; of T from Q. |2-Km J_T E§
' From each naht=anle o %L o
26 cm| friingl, oz Fhe Rhombus hoionse “ =25
B.: 24cm| e a0 ° A el vom O
o s B M uaeie B
D. 34cm| h/ |© ) oss 0 Lot -
A = 6+5im D. 135° o EEL . o
, =
6. 17 = perimter = #=Tad | =
65X -25
=obXh= =45 o
30. =
=
n the diagram, AXYZ is produced to 7. If In the diagram, O is the centre of circle
lXYl 12}1 and ZXYT =40°, find ZXZT. PQRS, ZPQR=72°and OR//[PS.  ,
YZ Qn 156scles Find ZOPS. /
e’ Thus, i in
‘ ]‘313 /Y52 2LxZ (=510 140) e LReP= ?;szoz (a9t @ it f7ie )
c.' 120° . =449 C- 540 s
o — % 360 =
D. 140 = 5PT 41’. (M7Mg7 clrg@)

T= |§0-7o0
02240204 @ XZ { 1 "Oo 2 él@fg; 320—/4‘/' (%’Q{Tﬂﬂ‘ Ane Qg&,)
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Index Number:

* Atrapezium of sides 10 cm and 21 em
and height 8 cm is inscribed in a circle of
radius 7 ¢m. Calculate the area of the
region not covered by the trapezium.

[Taken——] ’ Awaz,Cm

m Av" = Z.15x7"

84 cmn | ’éé"an ‘
80 cin® | Aveasr ﬁqﬂfzﬁm

@ 30 cm Lh(s‘l@:_'.xsﬁﬁ.z,)
D. 94 cm = 124Lm?

= Avear nit Govered =) 23.‘] i = ?0

aces, the

32. Find, correct to two decrmal pl
3 and 5_
6

mean of 1_, 2—188=4 4

2 3 480s

3 y 18 124 455
3.71 an

CE . 25T

il

B.

.&

[SS R S T S A

NOT DRAWN TO SCALE

In the diagram, MPisa tangent to the circle
NOR, APNQ 64° and IROI |[RN. Find t
angle marked 7. ﬁg,,vh RON & Issscels
1300 | 7Aus LRNG = ~_,\q\/\(

,”—J

: B30 = A
" : C. 3.69 Hilae ”‘5 : o|ZNRQ=6# (exT: %/
g ; =>I"' 60 ) == Bl S ‘ # (exl- £ equ
. DS 70 ~o. 358 @ iy , o oppinfer
k. = 2 =37 Dii64° :>‘4K’\'W=4’—‘\QN"-;{(/;L—.>9
_ Eﬂv- 33. Acyclist moved at a speed of X kmn/h = Z(”é) =23
(j %_‘g for 2 hours. He then increased his 36. Find the first quartile of 7, 8, 7,9, 11, 8, 7,
‘f =._3§ s'pqe_d by 2 km/h for the next 3 hour:s. 9, 6 and 8. Net dvalin to
1§ z—g If the total distance covered is 36 kmn, : l SCele .
':N gu@’ calculate his initial speed, X. A. 8.5 g Aesia, ":"Y
! 5 ) N 3
2 - inwked $pecd = X 3 7.0 -T -- Mo -ee-g
: Eig A. 12 kim/h ,f'maj;’fxc[ X A2, @ 7 P R i ¥ ¢
r =3 B Shmih | BE ;/;ac/ ><+(><u} 83 L LR
% : = 4 km/h /i o a1 6 T
' = . 6 ki/h | Ave: $peed = o7 h=gXlo=2.5
= xrberd)_ae | P Sis=%
=i 34. Z = § o A /— 4
3 Sx=62 -
i k 2 >\ )35° y
- ¢
L
R

S —

02240204

: NOT DRAWN TO SCALE | £

: NO ]

; TDRAWN TO SCALE i nithe dramam PORS is a cuclu Find the

i Find the value of(,\ +) in the diagram. gl e of . ’/)/w Lo Gn j/ / G Juakd
adigmoseie | @ |y
c ngo clmjkqm RS 30° /(’LJ 30)*/‘ 'H‘ +

| D’. 145° -é—lSo—Ho (Stmcjh‘th g ?8000 & f‘“))"_ 750

' e ;’; ( £ : = 32 kgtr 290° &

alfernile 49 Srrm[fu g/ L'f)/) Q'J[L} ‘]L

Quard- e Sa/)/?i»n/uﬂ"
2 (ety)+x = 180,

2= T3 =|$0° (@)
4= lgo-z;c
'-’>vj wn

%’x+§(l
=z = 50°

— — i —

equslon (2)

—-21) ?70




38. A cone hasabase radius of 8 cim and height
11 cm. Calculate, correct to two decimal
places, the curved surface area.

(Take = =7 burved Surface aret

\ a Cene = 7Tv
'\ ®
\

(e vrith= 811"
= [=\[185= 136
Shl= %xgxlj-é

:g)zﬁmz

341.98 cm?
276.57 cm?
201.14 cm?
477.71 cm?

Qv

; 3 o °
39. Given that sinx= E’O <x <90, evaluate

‘ (tanx+2cosx). 4, r;fshf—fzg?&c/ ]
I il ‘L/‘f’l;v%lc fm $inx=% i)
‘ U5 30 =
21 2 ? ané: z-
20 ' 7
Y 3 COSx= 7
c 3 4
3 20
L[Sk +zcerx)§ ;
D = =2 e
20 7 + 2(—%)) —7#-+5
> 47 = it
40. s 2,%
|
|
l
|
D
E
NOT DRAWN TO SCALE

In the diagram, EC is a diameter of the circle

ABCDE. If Z/ABC =158’ find ZADE.

Pwﬂtlc@' [ from &

................................................
...................

41.|Height (cm)| 160 161162163 |164[165
No. of AN G| ST 7| S| 0
pfayers

The table shows the heights of
thirty-seven players of a basketball team.
Calculate, correct to one decimal place,
the mean height of the players.

43. Five hundred tickets were sold for a

concert. Tickets for adults and children

— =12
1 Mean 2 = f:]‘
160 | 2x = (16ox4)+(161%6)+
e (162%3) + (164x8)+
0 (163+9) + (165x9) =
C. 1600 = 6020 =
2)C = §? & E“N‘ v
D. 165.0 ST 0 _ |2 e (N :
= =2 37 ~ 63 =8
e ";;, ;g
42. XY is aline segment with the E§
coordinates X (— 8, — 12) and Y (p, q). e
If the midpoint of XY is (- 4,~ 2), 1=
find the coordinates of Y. Eg
| A4 $Ketch ;f fhe /Mf[;éan ==
eeeplang belley, | ags
A (=6,-10) £+ mJ-Y( ) =
? p 0,3 ———-
®) 09 t
| i iy &
GRG0 & ||t 8 e I
D. (0.4) '; g f Lokl
: =0+ Y- -
[ sps="9;p20
XC) omy Farg) 4122y

2
> 9-12 =4 cz‘,:B

| A e were sold at $ 4.50 and $ 3.00 => Y(Pq,) = (O, 3)
B e respectively. If the total receipts for DM , -
| @ Gas the concert was $ 1,987.50, how many MlAPm 4 T2 (‘qu)
,' D. 290 1Eckets for adults were sold?
: g : /.afv#u; tetaf numbey of Gdulf
| @ 325 \and chudren who boag)id-hiies
‘; (B: 235 e 2 and Wzﬁjétj7/)¢q
| D. 400 2R = 500 . ---- @
12240204 2 ; =7 ég:ém‘”’e) Subs: Y i (4
LKBT= 180,128 (straight line) 45 +3500-0) (q §3z .E(z)
PLABT=LADC =22"(ext- Q..J) iffgffo ~2x =987 5
T | ACDE=Rit-imgled trinle (emSemiclidy 4B S 4875
LADE=90-22°= 68° e

e
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o A |

T

LA

45.

46.

2 | o—(lp+12)=8
(A HO (1o
® 3 p(R+8) - I8
3 40
B. —
10 — i
20
ol =
p 1
T 20

<

statement?

AR <'d <23 )
18<d<23 | |84 d 223
CRI8<d<23 ]

DS 7 <23
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The pie chart represents the distribution of

fruits on display in a shop. If there are 60
apples on display, how many oranges are

there? $oe = ?GOQ

0> 80°; )Czi‘%%_@

% 60— 80, )
270 £
120 5«77;? %z Bringe 360 =240
90 | 270—>360° < =20

OYan‘q:—NZO/‘ % OYap e:io_
A box contains 40 identical balls of which
10 are red and 12 are blue, Ifaball is
selected at random from the box; what

is the probability that’it is neither red
nor blue?

®ow»>

44. The distance (d) between two villages is
more than 18 k2 but not more than 23 k.
Which of these inequalities represents the

Do not
.......................... write in thi

: margin
47. A fair die is tossed twice. What is the
probability of getting a sum of at least 10?

. oL
36
B- 2
3
c =
18
off
6

A Bum of gt least 10= 9 "=

48. A man will be (x + 10) years old in 8 years =

time. If 2 years ago, he was 63 years, find

the value of x. Lt fﬁ} man's %;f_ b c{j ;/,’/7-6/)
J
ANISS }j-}’g = (37'& 'f_lO) —

)= 65

(Jv o
@ O« | dh3= 2R E U o T kvt Yin(:
25T |y =2 @] 7 S
HESe7 | 0 - I
| AMso, Y-2=63 |= x =652
) o : — [ <
49. The equation of a line is given as ot

pu—

3x = 5y=17.Find its gradient (slope).

A 2| Bx-by=%
2 éfbjz_ékf?

. :/ ‘\\’ 5 -:_'_)_ =
R S S
3

C. —g a\'/)'l/..»' ‘L {"/ L‘i‘ LUI’_{T} I!'I"I—IAL ¢ (+ .(T‘,’"/,'
5 Y=m=x +¢ g
3 = C/"V 4 oj' L’(Z/'IZL k=

S0. For what value of x is ﬂ undefined?

xX+1

v//k& ‘]L}"CLZZ:E";I g l’wli/’«/ww/
@ -1 | When 241 =¢

G = x4{ =0

=

:> . =0—|
B L
2N e =—1

EXAMINATION MALPRACTICE IS CORRUPTION.
DO NOTPAR{/CIPA TE IN IT.
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